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255,617 86,707 142,325 200,000
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895,586 871,300 23,979 0 306
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A) (B) (C=A+B) (D) (E) (F=C-E) (G) (H=F+G)
2,890 8,177 11,068 10,639 10,626 442 442 0
21,088 95,850 116,939 116,871 116,750 188 188 0
23,979 104,028 128,007 127,510 127,377 630 630 0
0 57,054 57,054 57,102 57,054 0 0 0

0 229,068 229,068 229,246 229,068 0 0 0

0 247,909 247,909 248,351 247,909 0 0 0

0 59,914 59,914 59,959 59,914 0 0 0

0 74,466 74,466 74,506 74,466 0 0 0

0 98,858 98,858 98,908 98,858 0 0 0

0 767,272 767,272 768,075 767,272 0 0 0
23,979 871,300 895,280 895,586 894,649 630 630 0




